ZA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD!I - DR-853 Plastpro FG Opaque (Trilennium)\C - Drawings\TX-4658.59.61.62.dwg

POWERED BY

ENDURA

DOOR COMPONENTS MADE IN THE USA

Opaque Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

DR-853

The Fiberglass Door system described herein complies with the 2018 Interational
Residential Code {IRC). Sections R301 & Ré0? and the 2018 International Building
Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the

foliowing conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required fo be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this

drawing.

4. Conditions not covered by this drawing are subject to further engineering

analysis.

TABLE OF CONTENTS

SHEET # | DESCRIPTION

Typical elevations, design pressures & general notes

Door panel details

Slidelte panel details {lip lite insert glazing)

Horizontal cross sections

Vertical cross sections

Vertical cross sections

Nl ORI -

Frame anchoring

112.25" MAX. OVERALL

FRAME WIDTH

. xx\\'}‘\.\ltu

RIS
s %. R ..’ uo,."v/a

98" MAX. O.A. FRAME HEIGHT ({INSWING)

97.125" MAX. O.A. FRAME HEIGHT {OUTSWING)

o) (o]

INSWING

+35.0

-40.0

OXO

OUTSWING

+40.0

-40.0

uj

e

o 0

Jo 0 o

Ex o o

§ m oz

4y g8 O

v TN
45

c 5 =

O§ om

L4

o oo o

;l—- =T =

A Jge
2>k U
17 I
Z0om o

-3 83 o

) o
O XZ

° o L
2

2 =g ©

g 9.5 4

o -00

o 2 -e %

a a oo S
§ p

b3

-l

[

©

E g

3 \ng

0

0

o]

CERTIFICATE OF REGISTRATION # F-11852

ENDURA
PART OR_ASSEMBLY:

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

LFS
BY

REVISIONS

10/26/21|UPDATE TO 2018 IBC/IRC CODE

1

fu
<
)
3
=z
6

DATE: 11,/09/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4661

sHEeT 1 oF 7




ui
07— = 37 o0y, “q
o] EXTERIOR — o Sheh bl 55, g
sinaline CRCORE S IN L I
U U U '] 1 "‘ GD".’ .'.'%".'.@ %.' :l\ 8“ o ﬁ g‘—
- t 435 oy B < et za,\ Zd
- . . . oo L : . P> IR A 3 .o
| e~ ~ . RSN LN P I
R N~ N TOP RAIL Fu ’-%-.‘ ; N (2R zeg 88
S : - o — : y ¢ s 8 GE
| R R N (COMP) ~_ 5= A O\ X 3332 g5
\ N . ZZ(}‘?‘"H.":‘{? c” o g .(‘)) [+ 05
\ / / \ 32111%**-:;.0- g 9% "fé
STILE (LVL NTERIOR WY Qx2
CAP (PVC) (Vi INTERIOR STEEL REINFORCEMENT ~ LATCHSTILE (Lv) ~ CAP (PVC) ! 3 z3, 6y
(1.6"X 0.135) 2 = &8 3g8 B
— & oo <k
1"\ HORIZONTAL CROSS SECTION R : X 8%
N .:v ' M '-_~ .‘ §
'-V > -
35.75" MAX. ey
PANEL WIDTH U
FIBERGLASS ”
P DOOR SKIN L e S
I \ e Al
. ) AR .' L < Qo
== SR
W v ..:I ; § %O
g e < &
1/ ¥ o &
INTERIOR , EXTERIOR g 5 =
~ ' ] [o} o
E %& ‘ 74 .",' % &
o - AT "
Cl<. TN 3 . 8
< - FOAMCORE || .-+ " o
s 3 \ 49, 4" &
i S S v
B ST o |z
o X R a w| |5
4. < . S =
\ - T It ] g
\ e ol ¥
c‘ . "
SEE HARDWARE i~ Ty <
| TABLE S &y %
B e DOOR PANEL = : N
TRILENNIUM QE
SERIES 3000 MULTIPOINT N
LOCKING SYSTEM bt N
BOTIOM RA!L/-- Il -2
(COMP.) e oaTE: 11/09/16
‘ scae:  N.T.S.
DOOR PANEL oK
Plastpro
b ;:; o — m VERTICAL CROSS SECTION CHK. BY: LFS
toergiass Endura Trilennium™ 3000 Series W DRAWING NO.:
DOOR SKIN: FIBERGLASS (0.075" MIN. THICKNESS) Muttipoint fock (3pt.) TX—4661

CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.)

SHEET 2 oF 7

ZA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-853 Plastpro FG Opaque (Trilennium)\C - Drawings\TX-4658.59.61.62.dwg

@ 2016 R.W. BUILDING CONSULTANTS INC.



ZA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-853 Plastpro FG Opaque (Trilennium\C - Drawings\TX-4658.59.61.62.dwg

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

EXTERIOR

07 —=|  |=— 37
—— 04"
04— == EXTERIOR ]—~
J/E\L ?
o = R : [
ﬁ\n - n n i ' L TOP RAIL
\ \ (COMP.)
STILE {LVL INTERIOR T
CAP (PVC) Hh STEELRENFORCEMENT  LATCHSTIE (tvi)  CAP (PVC) o
(1.6"X 0.135)
/1" HORIZONTAL CROSS SECTION .
: FIBERGLASS SRS
#6 X ]_]/21 ] .v "
PPH SMS —] GLASS BITE 1/: DOOR SKIN . l}» PR
35.75" MAX. PANEL e
WIDTH 21" MAX. INTERIOR —— 1/2" OVERALL GLASS THK, S
> D.L.O. WIDTH a R
1/8" TEMPERED GLASS AT
& AR SPACE g . e
1) / 1/8" TEMPERED GLASS
V4 4
\3/ ; \ EXTERIOR STEEL SPACER 3
#6 X 1-1/2" PPH SMS
3A LOW TACK SEALANT INTERIOR N
2 zE GLAZING DETAIL
i ] =in
T & i O
o - Sz
< ~ >0
<
= 3 i
u-) N — .. . .
< FOAMCORE || =77 - 7
SE S Sl
/ [ [es] 4 ) .' ‘ 44 .
. 4// . - —}— ','-'4. ‘c
/ in T
s S T ~ L .
- R R
3.25" __J L { } AR
(TYP) 1 ol w
> .
ODL LITE FRAME .
BOTTOM RAIL—" |1
SIDELITE PANEL ODL LITE FRAME (COMP) :
Plastpro . HP Polypropylene
Fiberglass

SIDELITE PANEL SKIN: FIBERGLASS (0.075" MIN. THICKNESS)
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.)

/" 2"\ VERTICAL CROSS SECTION

BUILDING CONSULTANTS, INC.
P.0. Box 230 Vairico FL. 33595

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—-11852

ENDURA

PART OR ASSEMBLY:

PRODUCT:

SIDELITE PANEL DETAILS
(LIP LITE INSERT GLAZING)

LFS
BY

REVISIONS

10/26/21|UPDATE TO 2018 IBC/IRC CODE

1

e
<
a
o
=z
6

paTE: 11,/09/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

3/

DRAWING NO.:
TX—4661

SHEET 3 oF 7

@ 2016 R.W. BUILDING CONSULTANTS INC.



Z\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-853 Plastpro FG Opaque (Trilennium)\C - Drawings\TX-4658.59.61.62.dwg

{&

O

|
Pm—

¢

A-

S

b b d CORNER PADS {TYP.
- (e,
YA
&/ A8/
0.75" ——T—ﬂ e 15"~
]
\ ! #8 X 3/4" PFH SMS
\ #8 X 2.5" PFH WOOD SCREW /
SIDELITE PANEL o
T Sl INI v (i
%= iy
#8 X 2.5" COURSE THREAD # i
- DRYWALL SCREW ;
- 125" = . (See Note 1)
JAMB / HEAD FATBOY MULLION
PINE PINE
4-3/8" FATBOY PINE MULLION
NOTE:

1. Spacing for sidelite screws: 6.5", 35.5",
57.25" and 85" from head to sill (4 total).

SIDELITE PANEL
EXTERIOR

//

#8 X 2.5" COURSE THREAD /
DRYWALL SCREW

{See Note 1)

INTERIOR

4" HINGE

N

7“2\ HORIZONTAL CROSS SECTION

W Outswing shown - Inswing also approved

L
o
S¥
1/4" MAX. ’éi 2 §§
SHIM SPACE EXT. SHEATHING 4 Sy o8 B
JAMB 4 ez 2d
9 . ;B8
9 gé % o 2
e e . S S— 4 ] 8a 22
" —— —"— < gt 20
e 3 Lgo 0ok
a>s B &
g8° 5b
§ 83, &g
o 0 x2 K
o z38 o O
2X FRAMING s 2355 op
J L (6>=042) | S 1
S i
B i
5 gg
, ;S F
3
0.15" \ \
| PN DRYWALL & %
WOOD SCREW £ o. BB
3 2 So
= 2 Fun
/1" HORIZONTAL CROSS SECTION b 2a S
w Outswing shown - Inswing also approved - o 275
5 14
= [e]
S |E
o 0.
L%
&
DOOR PANEL LATCH STRIKE PLATE S
#8 X 1" PFH SMS e
3 {
S HI0X2:1/2"FH WS 3l |2
(o]
\\ 2| 2
(o]
EZRANNN = =
\ s /‘\\\\\\\\\\\\\\u' E
,.M& §
ENDURA WEATHERSIRP " [ ] ‘m =
(QEBD 650) 7 NH¥
DOOR PANEL SIDELITE PANEL Q=
#8 X 2.5 COURSE THREAD S0
DRYWALL SCREW — S
(See Note 1) =
oaE: 11/09/16
/ scAE:  N.T.S.
4-3/8" FATBOY PINE MULLION — pwe. BY:  JK
CHK. BY: LFS
/3 "\ HORIZONTAL CROSS SECTION DRAWNG MO
\U Outswing shown - Inswing also approved TX—4661

SHEET _4 oF _7

© 2016 R.W. BUILDING CONSULTANTS INC.



- Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-853 Plastpro FG Opaque (Trilennium)\C - Drawings\TX-4658.59.61.62.dwg

EXT. SHEATHING \

1/4" MAX.

2X FRAMING
> (G>=042)

5 / DRYWALL

~
N

o L—#0x25 P
-1 WOOD SCREW

SHIMSPACE [

DOOR PANEL ——\

0.15"
C'SINK
(TYP.)

\, HEAD

ui

ENDURA WEATHERSTRIP

EXTERIOR

A\

(QEBD/PE 650)

INTERIOR

71"\ VERTICAL CROSS SECTION

&/

Outswing shown - inswing
also approved

2X FRAMING
(G >=0.42)

DRYWALL —\ o

1/4" MAX.

SHIMSPACE — | _

7

SIDELITE PANEL -—\

#8 X 2.5" COURSE THREAD —/

DRYWALL SCREW
(SEE NOTE 1)

INTERIOR

0.15"
C'SINK
(TYP.)

.

1/

yi

\— HEAD

EXTERIOR

m VERTICAL CROSS SECTION

w Inswing shown - Outswing also approved

NOTE:

1. Spacing for sidelite screws:

&" from each end (2 total).

| / EXT. SHEATHING
Iy y

L— #10 X 2.5" PFH
WOOD SCREW

ui
o
.f’
53 £ oy
P 0 i
E* o i 0
£ 0 Z -
8 ] -
22" 2
R = N
™
:g ’Eig ::1%:
G o
H: §.§a 53
2 dpe ob
23m @é
£g0 &0
3, QR . &0
) ON s auw
oxz %
® Z8 . 6u
] g2 /0O
§ 592 B
& moa g
) & il rd
-
& E
2 L
P R i
=1
Q
o
o
n
<
8]
5
|
[
& %
& .
a = Q
g |38
7
<C
s
.. =
3] 8| &
2 s
Q =
S |
o o
0l
-

REVISIONS

10/26/21]UPDATE TO 2018 IBC/IRC CODE

1

oATE: 11,/09/1

L
<€
[
3
=
6

SCALE:

N.T.S.

DWG. BY:

JK

CHK. BY:

LFS

DRAWING NO.:
TX—4661

SHEET _ 5 oF _7

@ 20716 R.W. BUILDING CONSULTANTS ING.



ZA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-853 Plastpro FG Opaque (Trilennium)\C - Drawings\TX-4658.59.61.62.dwg

ENDURA
?g@i DOOR SWEEP
AN (DBK-R)

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

/ 1"\ VERTICAL CROSS SECTION
w Inswing Adjustable Threshold

SIDELITE
PANEL

#8 X 2.5" COURSE THREAD
DRYWALL SCREW
(SEE NOTE 1)

INTERIOR

A\

ENDURA
DOOR SWEEP

/ [DBK-ZAC)

INTERIOR

#10 X 2.5" PFH WOOD SCREW OR

1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

/ 2"\ VERTICAL CROSS SECTION
w Inswing Articulating Threshold

#8 X 2.5" COURSE THREAD ———] ;2 gg}‘?

DRYWALL SCREW Bws =77, I’ |

(SEE NOTE 1) , 0 //</< M
EXTERIOR

ENDURA WEATHERSTRIP

W&

#10 X 2.5" PFH WOOD SCREW OR 1.
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

EXTERIOR

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

813.659.9197

NOITE:

Spacing for sidelite screws:
6" from each end (2 total).

m VERTICAL CROSS SECTION

SIDELITE . 7]

PANEL \\7‘— 0 @ @

NTERIOR
#10 X 2.5" PFH WOOD SCREW OR

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR [TW CONCRETE SCREW

7”4\ VERTICAL CROSS SECTION

1/4' X 2-3/4" DeWALT OR ITW CONCRETE SCREW

/"5 "\ VERTICAL CROSS SECTION

W Outswing configuration

P

:ovo? ;’é ) .:?) % ‘ ’H~
e e T

1 INSWING ADJUSTABLE THRESHOLD 2 INSWING ADJUSTABLE THRESHOLD 3 INSWING ADJUSTABLE THRESHOLD @’NSW’NG ADJUSTABLE THRESHOLD
ZAIL4565 ZAI4565FN ZAILAA4565 ZAIAA4565FN

f | 456" | f ! 456" | f ! 456" | ﬁ 456" |
o \INSWING ARTICULATING THRESHOLD 7" INSWING ARTICULATING THRESHOLD @ INSWING ARTICULATING THRESHOLD "™ INSWING ARTICULATING THRESHOLD
TACLAS65 TACA565EN IACLAA4565 IACAA4S65EN

1 OQUTSWING THRESHOLD
10BL4565

! 456"

12 OUTSWING THRESHOLD

- } 456"

ZOB4565FN

ZOB4565RDS

13 QUTSWING THRESHOLD

W QOutswing Bump Threshold

ol 456 |

INSWING ADJUSTABLE THRESHOLD
ZAl4565RDS

(4]

:

© 2016 R.W. BUILDING DONSULTANTS INC.

} 456" |
10 /NSWING ARTICULATING THRESHOLD
IAC4565RDS

| MAX. DESIGN PRESSURE = +35 PSF |

BUILDING CONSULTANTS, INC.
P.O. Box 230 Vairico FL. 33595

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF RECISTRATION # F—11852

v
S 2
&) o
2 wnl. o8
D X =0
S @ S
O lal S0
I 17
L 29 S
5 [+
2 o
o b
[+9 [s N
24
Ly
Q
o
o
O
X
Sl |n
o =z
o)
B »
s 12
] =
o
o
i2
a
a
>
~
i
Q=
NE
S0
e
oATE: 11/09/16
SCALE: N.T.S
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4661

SHEET 6 OoF 7




Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-853 Plastpro FG Opaque (Trilennium)\C - Drawings\TX-4658.59.61.62.dwg

ui
s g 2X FRAMING (BY OTHERS) ay
O 6 <C L %g & N
T 5 EX 2 48
203 " _ & 2 L
O Q M [ (TYP ) ot 7239 g M g |
Q re) ] g : g weo @b Uy
h (‘} c 3 - e
| ) (vp) | ¢ %g €32 %z
1 SEEHINGE T ] T 1 5 538 ax
T M DETAIL 1 \. \ 1T 2 o5 gE
= w [o] o
. ? #10 X 2.5" PFH DETAIL 1 DETAIL 1 N & 88y Qi
3 WOOD SCREW .= & 3 282 b,
> (TYP. @ HEAD = § 3,8 o°
AND JAMBS) B 2 Rak gg
5 ' 7 ' : X OE
2 EE \ \)\ s g
3 R i wex21/2PHWs [E R BY
N S P / 8
1] o LI o e
_ OO i
2 - ~ - | BXVPFHWS <=0 | ®]l ™~ 48X 3/4" PFH WS
|
5 ~— 4" X 4" HINGE
R SEE HINGE o | N o
DETAIL 2 T . v =
— <
n . A SEE STRIKE @ HINGE DETAIL 1 € |43
PLATE DETAIL S S |3 =
N Lag =
ZE SR | B \ A
@9/ DETAIL 1 DETAL 1 NG |~ #EX2V/ZTPRHWS . of E
/ L] 8 o
' i ‘i\i 1 N ] o o S ke
i : =1 I " b ® |10~ © %
g (TYP ) ——] ) ~— 4" X 4" HINGE 2
“l = 7w 1/4'X 2-3/4' DeWALT OR 3
{TW CONCRETE SCREW W
HINGE JAMB FLOOR SUBSTRATE MATERIAL (TYP.) FRAME AN NG S
HINGE JAMB CONCRETE (MIN. 3000 PS) OXgHOR' (TYP @SiLL) STRIKE JAMB HINGE DETAIL 2 3
WOOD (G >=0.42) Q
Sl o
* iy ) 215
NOTE: These additional anchors required for D.P. > 40 PSF. © %
]| &l
}9 jad
e
CONCRETE ANCHOR NOTES: g
1. Concrete anchor locations at the corners may be adjusted to maintain the min. f
edge distance to mortar joints. N
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to A o E
maintain the min. edge distance to mortar joints, addifional concrete anchors Rl
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. #8 X 2-1/2" COURSE ] hin S
3. Concrete anchor table: THREAD #10X 2-1/2"FH WS 1o =
R E:| MIN. CLEARANCE DRYWALL SCREW ! R muurPomt owTe: 11,/09/16
ANCHO STRIKE PLATE :11/09/
‘TO ADJACENT scae: N.T.S.
B T “ANCHOR = owe. BY:  JK
W DEALL | STRIKE PLATE DETAIL cik. BY:  LFS
® ,I " 4" N N K
TAPCON / Integral mullion attachment T
DeWALT . . . . TX—4661
uLtRACONS| 1/ 1-3/ 1 4

SHEET 7 oF 7

@ 2016 R.W. BuUiLDING CONSULTANTS INC.



